
notgnilsI-thgileD s'traeH fo nwoT
3102 erutcurtS xaT

:xaT ytreporP eulav dessessa fo sllim 8
xaT ytreporP muminiM     raey rep 063$

:xaT lloP raey rep 063$

:xaT ssenisuB 00.001$ muminiM

spohS ydoB /segaraG/sraB saG     sllim 8
seinapmoC elbaC/ytilitU     eunever ssorg fo %5.2

sertneC noitadiuqiL/segnuoL/sbulC     sllim 5
seinapmoC liO     sllim 06

stinU latneR     sllim 6
slanoisseforP     sllim 21
gnidliuB taoB     sllim 04

ecalp dexif on ssenisuB      roirp rof ssenisub fo eunever ssorg fo %1 fo 4/1
.retaerg si revehcihw ,00.001$ ro raey

srehto llA     sllim 01

:setaR reweS/retaW

reweS & retaW     raey rep 00.063$
ylno retaW     raey rep 00.042$
ylno reweS     raey rep 00.231$

potS bruC     raey rep 00.06$
:eef ffo/no nrut retaW     eerf raey rep ecnO

retfaereht 00.52$
.srh gnikrow raluger retfa ro sdnekeew no 00.52$

loohcS     munna rep tnapucco rep 57.7$
sgnidliuB tnemnrevoG     raey rep 09.4631$

:eeF noitcelloC egabraG raey rep 00.27$

:stimreP

stimrep rodneV     raey rep 00.001$
)laitnediseR( noitcurtsnoC weN     00.05$
)laicremmoC( noitcurtsnoC weN     00.521$

serutcurts gnitsixe ot sriaper lareneG     00.5$
segaraG/sdehs egarotS     00.5$

secnef ot sriaper ro/fo noitcurtsnoC weN     
sdaor lacol no gnitnorf     00.5$

:sesneciL goD

  elameF     00.51$
)deyaps( elameF     00.5$

elaM     00.5$
yllaunna ecnecil lenneK     00.05$

:etacifitreC xaT 00.05$

:euqehC FSN 00.52$

munraH ylimE
reganaM/krelC nwoT

 yap ot edam neeb sah tnemeerga na sselnu etad eud eht retfa xat ytreporp 3102 fo ecnalab diapnu eht no
.3102 ,13 yraunaJ gnitrats stnemlatsni ylhtnom lauqe 21 ni

no licnuoC fo etunim a yb detpoda dna .2102 ,11 rebmeceD 
 eht fo 901 noitces htiw ecnadrocca ni dehsilbup si 3102 rof erutcurtS xaT gniwolloF ehT tcA seitilapicinuM

3102 no detnarg eb lliw tnuocsid %5 A .3102 ,13 hcraM erofeb ro no lluf ni elbayap dna eud era sexat llA
degrahc eb lliw htnom rep %1 fo tseretnI .etad eud eht yb lluf ni diap fi ,xat llop dna rewes/retaw ,ytreporp


